Question1  Work out the following divisions.
a 36+2= b 8.4+2= c 9+2-= d 11+4=

e 575+5= f 6.25+5= g 125+5= h 8.4+4=

i 7.2+6= j 9.6+6= k 12.6+6= Il 18+5=

m 58 +4= n 0.954 +6= o 168+8= p 120.4+8=



QuesTion 4 Calculate the following divisions.

a 85+50= b 64.8+40= ¢ 72.4+400=
d 84+30= e 45.5+500 = f 360.3+300=
g 81.9-+90= h 144,12 +300 = i 625.5+50=

j 432.8+800= k 564.4+ 4000 = L 9.45+50=




QUESTION S Divide the following.

a 95+05= b 6.4+0.4= c 8.2+0.2=
d 9.3+03= e 32.84+0.04= f 8.24+0.08=
g 16.16 +0.08 = h 1.616 + 0.4 = i 8.28+0.4=

j 576+0.4= k 1.44+0.12= L 8.16+0.8=




